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B.Com. (I Year) Examination, August 2022

COMMERCE
Major-1
(Financial Accounting)

Time Allowed : 3 hours Maximum Marks : 70
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Note: All questions are compulsory in section ‘A’ and ‘B’

W"Uug-3 / Section-A
( 31fq o 3w Uy )
(Very Short Answer Type Questions) S5x1=5

qie:  fAefofaa 9o & 3ar 50 V=] 9 G197/
Note: Answer the following questions in 50 words.

1. fg-vfafe yoreh s @2
What is Double Entry system?

2. godwd &l qfirfad i |

Define Depreciation.
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What is “Shortworking

. S : 3
TIETY FEYS FN 8/

P « " » * .. ) .)
What 1s del-credere commission’

TrFEd #1 fawes gazm
Explain dissolution of Partnership.

EU2-4 / Section-B
(N IS uvq )
(Short Answer Type Questions)

TZ: frefatas v & e 200 V1=t 9 Zifaw

Note: Answer the Jollowing

6.

7.

questions in 200 words.

F Y AEHE F G F 9 ey §) afg
TN HY IR FR A FE )
Do you calculate the balance of nominal
accounts? If not how do you ¢lose jt2

HYAT/OR
am'a‘aﬁaﬁfafﬂﬁiaﬂﬁmffavhmz
Explain brieflv methods of preparing [rial
Balance.

TE F ST F UTE FRON F G927 |
State five causes of providing depreciation.
3Fgar/OR
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T AT &l T | Y A Saifug frsifea
foeron & 3MUR R v @ s .

2
Ritellea ke Ve —2.00.000
TTET S UFHT OS] 3

[ETE) 1.000 .
SR 500 ~
ELR! 2.000 =
I = 1.500 -

5,000

Afqm wia 2, 30,000

TR ISR @ sEEE 9T - 2,30.000
Prepare Branch Account in the Head office

book from the following particulars of Branch:

<
Goods sent to Branch & 2.00.000 &

Cash sent to Branch 4

Rent 1,000 -
Wages 500
Salaries 2.000
Other Exps. 1.5

5,000
Closing Stock 50,000
Cash sales remitted to i { O
Head office 2.30.000 v R/
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8 1AVl elaied s ¥ ae SUH! IavgFHa
N R?
Whatis departmental accounting and what is
s need?

AT/ OR
SUMHR- Y&k & fafir yar R
EXplain the various Kinds (types) of rovalty.
9, “

ST @i ud ey wify @ 4 3R sz |
Dilterentiate between [ncome and Expenditure

accountand Profit and Loss account.

HAAT/OR
HIHT BT IR S19mr=1 =1 oy 9 9T |
What is Normal Loss and Abnormal [ oss?
Explain.

10. ®° & fageq w, N & T W us formu
fafau
Write a note on the record of Goodwill at the
time of dissolution of Firm.,
AHAAAT/OR

%S g% R 5% q=F (qgaw) § T
HRT?

What is the difference between Cash-Book
and Bank-Book (Passbook)?
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WUg-H / Section-C
(S I w9 )
(Long Answer Type Questions) 10x4=410

frefefad 9 @ fasl a7 gt & 397 500 vt 7 difaa )

Note :  Answer any four questions from the following in 500 words.

11.

12.

f=Zan, =it @ ud eny-gif @ 9 @
HAVAR? T F S S B2

What 1s meant by Balance sheet, Trading
account and Profit and Loss account? Why are
they prepared?

feifRd & faqa e &1 emifi ik eny-=ifa

grdl td fagar dar ifsu .

faaror (Sfae )z faaur (wfge)z
TR wiaa ICER 14,690
1-04-2020 2,450 SRl 9qHt 350
! 11,870 ©HER 1,250

afies aadl 40 < faua 1.350

[ETEI] 360 o Afufawd 1,570
EhE 850  gaft 8,000
I = 300 TN

T UFE 210 U= 250
TS W 450

TR 7,580

EEREE L 2.750

TR 600

Y 27,460 AT 27,460



/

(1) B}Hﬁ"’ﬂ”}%ﬁ‘:"ﬂT’W?J 00 =7 |

(2) ?8()"13%"713’ et FAC |

(3) 2120 f=Tm FZAL |

From the following prepare Vipul Trader’s
Trading and Profit and Loss account and

Balance sheet :

Particular Debit T Particular Credit?
Opening stock Sales 14.690
1-04-2020 2.450 Retumns

2 Purchases 11.870 Outwards 350

(/Rcmms;lmxards 40 Creditors 1,250
Rent 360 Bills pavable 1,350
Salarnes 850 Bank

Travelling Exps. 300 Overdraft 1,570

Cash in hand 210 Capital 8.000
Discount Bad-debts

allowed 450 received 250 0
~Debtors 7,580 6
Bank Deposit 2,750 v ~ '} O .
Drawing 600 N U\"/E
Total 27,460 Total ot 27,460

Adjustments:

(1) The closing stock on 3] -03- 2071 was
34.200.

Write oft T80 as bad debis.
X120 rent is outstanding.

p— -~
s bI
T
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14.

era o fafs=1 faferl wm-%7 @ § 339 am
| fafan SRR WA Ugfa G g ad o

fafy GHART |

State only the names of various methods of

depreciation and explain the calculation of

depreciation under Straight Line Method.

01-04-2016 1 e Frerdi fet. 3 yfg =71 v
T2 W W et | =y T 7 0fer worm
H2,00,000 % 5t & & 4,00,000 7 377 355
AR 9T F19 H 6,00,000 2 ST F ferw 1wt 7
IR SR -Y[ook &1 M 40 7 w9 27 et 772 |
ST ol TR F1 922 % Fae yoq a9 g9 §
& ST T ST a1 £101-04-2016 9 31
03-2020 T aifish faret U w et 57 ufergt
FH: T TR ot £ 1,000, 10,000, 18.000 3
20,000 27 137 H1&1 | 9221 o1 16T THe s
f1. =1 gedenl # of @ =51 @ g
On 01-04-2016 the Minal Colleries I td. took
a piece of land on lease. A minimum rent of
22,00,000 in the first year, T4.00.000 in the
sccond year and thereafter 36,00.000 per

annum is to be merging into a rovalty of 40
per ton, with power to recoup short-working
over the first three years of the lease only.

The figures of annual output for the vears from



15.

16.

17.

8
01-04-2016 to 31-03-2020 were 1,000,
10,000, 18,000 and 20.000 tons respectively.

Open the landlord account in the book of
Minal Colleries I.td.

ST ST P HH £ 7 e o g H g
H Heifea - wafest a3 s 37
What do vou understand by consignment?

What entries are passed in the book of
consignor in this connection?

Tt =1 o1 st 9 Stafe= fores wepr 25
Bl 82 HHemey |

What is the meaning of investment? How

many types of securities are there? Explain.

“Wﬁnﬁ"ﬁmmﬁﬁaﬁwr@ﬂmn
AT T R oy ey 3

Explain the decision in “Garner V/s Murmy".

Does this decision apply to Indjg?
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